BE Keysight Spectrum Analyzer - Swept SA =R

| REPRESEL | 50€ AC | CORREC | | SENSE:INT| SOURCE OFF | ALIGN AUTO [ 01:35:31 AMJun 06, 2016

Marker 1 A 5.30000 ms , Avg Type: Voltage i 1 2 - 4
PNO: Fast 0 Trig: Free Run AN
IFGain:Low #Atten: 30 dB NN N

AMkr1 5.300 ms
E%gBrdiv Ref 126.99 dBpV 0.79 dB

Center 2405000000 GHz Span 0 Hz
Res BW (CISPR) 1 MHz #VBW 3.0 MHz Sweep 100.0 ms (1001 pts)
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Time of One Pulse is 5.3 ms




BE Keysight Spectrum Analyzer - Swept SA =R

| REPRESEL | 50€ AC | CORREC | | SENSE:INT| SOURCE OFF | ALIGN AUTO [ 01:35:47 AMJun 06, 2016

Marker 1 A 53.6000 ms i Avg Type: Voltage Rl 1 (2 5 4
PNO: Fast 0 Trig: Free Run PN
IFGain:Low #Atten: 30 dB NN N

AMkr1 53.60 ms
E%gBrdiv Ref 126.99 dBpV

Center 2.405000000 GHz Span 0 Hz
Res BW (CISPR) 1 MHz #VBW 3.0 MHz Sweep 100.0 ms (1001 pts)

vsc i File <Screen_0001.png>saved _______ swAwus

Time Between Pulses = 53.6 ms
Total On Time =5.3 ms
Total Duty Cycle =5.30 ms / 53.60 ms = 9.89%
The Maximum Peak to Average Ratio of -20 dB can be used.




